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Dlo=—"1u (2.14)
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AMQF

4-7
d_n
VA
,dzin
P
A.B
D=d-tf+o="Tut s+

Y
/2*79(1* +87
» A
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D=Kn+C
K o
K=100,C=0, , )
D=Kn (4.12)
U, v , Iy
h=i—v (4.13)
Ha, B :
Hy=H +h=Haiti—v (4.14)
( 4-8 ), QM . R no
M'Q’ o
© (34",
ZMM'O  /QQ'0O :
no
W =MQ =MO0O+0Q
=MOcosa+ OQcosa
=MQcosa
=ncosa
(4.12), D’
D' =Kn'=Kncosa
4-8 A.B
D=D'cosa= Kncos’a (4.15)
A.B
h=Dtanqg+i—v (4.16)
Ha, B :
Hy=H,+h=H,+Dtana+i—wv 4.17)
4.2 A H,=50. 25m, 1=1.43m,
v=1,43m, a=1.684m, b=1.132m, L
=88°05"36"( , 0, A B D B
HBc

a=90°—L=90°"—88°05"36"=1°54"24"

D=100(a—b)cos’a=100(1. 684—1.132)cos*1°54"24"=55. 14m
hap = Dtang=55. 14 X tan1°54"24"=1. 84m
HB:HA+]74\B :50. 25+1. 84:52. 09m
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( N )
( 3km R ( 3~15km) . ( 15km )
A\B ( 4’9 )9 A 9B
A B A , A.B
D:%CZ (4.18)
. (m/s),t

(s),

4-9

(4.18) s s +1lcm,
(6.7><10 H)S’ ° ’

’ b °
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4-10 , A , B
Ta 909 gD/Zqu Aaf\j
, 4-10 2D,

D=1 L= ZTtANﬁ—AgQ
27 2n

D=%(N+AN)

(4.19) N s AN
]\7
B
A /\ N
! A A AA
)‘J_;T‘ 2w 21 AQD—»
2D
A { B
4-10
’ ONZT[' ’
N b ’
H 15KH27 10m,
1 000m, ,1 000m
(D ( )
(2 ,
(®)) )
1.
2.
3 , A.B
210. 243m, D g
4. ( )

H,=56.87m, i=1.45m, 4-1,

150KHz,

o

b

(4.19)

AN?

210. 251m,
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(m) (m) ° (m) (m) (m)
2.154

1.95 92 54
1.745
1.987

1. 60 90 24
1. 256
2. 486

2.10 88 42
1.763
0. 985

0.70 85 30
0. 489
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N N N s
( ) o >
s o
s (Topcon) GTS . (Sok-
kia) SET PowerSET . (Pentax) PTS . (Nikon)
DTM ; (Leica) WildTC 3 NTS
( )N . . .
o 5-1 o
5-1
TC1610 GTS—311 PowerSET2000
30X 30X 30X
(m) 1.7 1.3 1.3
1" 1" 0.5"
+1.5" +2" +2"
+3' +3' +3'
2.5 2.7 2.7
(km) 3.5 3.6 3.5
+C2mm+2X10°XD) | £Bmm+2X10"°*XD) | £ 2mm-+2X10"°XD)
( ) (s) 4 3 2
30"/2mm 30"/2mm 20"/2mm
8'/2mm 10’ /2mm 10" /2mm
cCH —20~+50 —20~+50 —20~+450
4 16 4 20 8 20
N s s s
o , s
o GTS—311

¢ ) GTS—311
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1. 52 GTS—311

14 L
13
a
12 v &,
1] [
11
10
9
- 2
g5 0 5
7 3
6 iel 3!
= 4
5
a
1 32 5 3 34 ) ;6
7 .8 ;9 ;10 i1
12— ;13— ;14— ;15— ;16—
17— 18— :19— 20—
21— 20— :23—BT—24QW
5-2
2. GTS—311
(1H)GTS—311 4 X20 , 5-3

¥
| EEH 9@

(2)GTS—311 5-2 .
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(o2}

GTS—311

-

B EN B

(3)F1~F4

ol
|

w

F1~F4

F1 OSET 0°00'00"
F2 HOLD
! F3 HSET
F4 P1y
F1 TILT “ON”
) F2 REP (
F3 V% / L)
F4 P2 A
F1 H-BZ 0°,90°,180°,270° ,
s F2 H/L
F3 CMPS ( / )
F4 P3y
F1 MEAS
F2 MODE Fine/ Coarse/ Tracking)
! F3 S/A s PSM  PPM
F4 P1y
F1 OFSET
F2 S. O
2 F3 m/f{/1 (m/ft/in)
F4 P2y
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F1 MEAS
1 F2 MODE ( Fine/  Coarse/
F3 S/A PSM
F4 P1y
F1 R. HT
) F2 INS. HT
F3 0CC
F4 P2y
F1 OFSET
3 F2 m/f/i (m/ft/in)
F3 P3 y
¢ )
1.
s 0 GTS—311
BT—24QW ,
, CAY )
2.
3. s
(D ) o , 3
(VOSET TURN) ., (PSM) (PPM),
o F4 s 5-4 o
(2) “V OSET TURN” o
0° s
o ) 0° ,
0° o
5-5 o
V 0SET TURN Vi 90°05' 08"
PSM: 0.0mm PPM: 0.0 HR: 5°25'21"
} *+ ——— ENTRE OSET HOLD  HSET Pl
5-4 55
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4., GTS—311
GTS*Sll ) 1) Fl”\’F4 °
(1) 1) b*68 . Fl (INPUT ) ’
, 5-6b .
N— 0.000m N= 0.000m
E: 0.000m E: 0.000m
Z: 0.000m Z: 0.000m
INPUT ——- PT# ENTRE 1234 5678  90-- [ENT]
[} ] ] ] 4 4 4 4
a b
5-6
(2 56b  1.2.3.4 F1 :5.6,7,8  F2 9.0, \
F3 ; F4 R . 3, F1 s 5-
Ta , F3 3, ( 5-7b )
N— 0.000m N= 3m
E 0.000m E: 0.000m
Z 0.000m 7Z: 0.000m
. 5 3 A 1234 5678 90— [ENT]
[} ] ] A 4 ] 4 4
3
a b
5-7
(G
GTS—311 o
1.
(1) ’ ) ) 5’821;
F1¢( 0SET) . 0°00'00", 5-8b;
F3( YES) . 0°00'00", 5-8c
(2) , HR , 5-8d,
2.
(@D , o
GTS—311 15°C 1013hPa(
760mmHg) , )
- ~106.033P L
}za—<279.66 TRt 15+¢)X10 (5.1
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yka , P (mmHg) ,: .
V: 90015/28” ‘ H ANGLE 0 SET ‘
HR: 25°13'45" >0K ?
OFEST HOL.D HSET P1 —— [YES] [NO]
a b
V: 90°15'28" V: 88°15'36"
HR: 0°00'00" . HR: 38°56'34" .
OEST HOLD HSET P1 OEST HOLD HSET P1
c d
5-8
(2) o
b
’ ’ 5*9& °
, , 5-9b o
HR: 110°30'36" HR: 110°30'36"
HD*r] < <m HD*r] 78.6998m
VD: 3.256m VD: 3.256m
MEAS MODE S/A Pl MEAS MODE S/A PLt
a b
5-9

3.
, N .E(y) Z(H) o
(D o
@® , .
@ ’ ’ 5‘10&1
. F4 s 5-10b ,
. 5-11a,
N* [r] < <m N: 45.421m
E: m E: 24.965m
Z: m Z: 35.698m
MEAS MODE S/A Pl RHT INSHT OCC P24

a

b
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® , . 5-11b ,
PEFLECTOR HEIGHT N- 45.421m
INPUT E- 24.965m
R.HT: 0.000m 7Z: 35.698m
INPUT [ENT] MEAS MODE S/A Pl
a b
5-11

~
(W)
~
o

EHNCHS)

(MEAS) o

@) , o
(2) ,

(3) b b o
(4 ; ;
(5) : . . ;
(6) : N ;
(7 : : :
(8) . . .
(9 , ) :
GPS
. GPS

GPS “ . / ”(Navigation by Satellite Timing
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and Ranging/Global Positioning System) , s
GPS : —GPS ; —
; —GPS ( 5-12 ),
USTITENN . e
\ 7 AN ~ - I
| < I
~ - N
’\/ < ~ N N :
~ N |
~_ D |
~ \\
(L IGPS PRBKRRS %
GPS HUH#EH R 4t
512 GPS
C ) GPS
GPS 21 3 24
) , 6 )
55°%, 60°,
20 200km( 5-13 ).
,GPS , 12
, S s
4, 11 o GPS
. . 4 GPS
13 GPS ,GPS
@Y) L ( 19cm  24cm)
( N )
(2) , S ( 10cm)
, GPS , o

(€D ,
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(G
—GPS
GPS
y 14 R >
C ) GPS
GPS
GPS
GPS
. GPS
GPS
@) o
~500km 1077,1 000km
Imm,
(2) . 20km
15km
D) 1’\’2
3) . GPS
4 . GPS
(5) GPS
(6) . GPS
7 . GPS

GPS

»GPS

1077,

1)

24

GPS

300~1500km
0. 5mm,

15~20

50km

H

GPS

10°°,100

.1

0.3mm,
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. GPS
GPS : GPS
S GPS , P(
X s, ) GPS (514
g ,
iV X ), GPS :
P P .
p £y .
: 514, PGPS
N p P GPS Si1.5:.S; 010205 »
7y GPS GPS
(XY, Z)(j=1.2.3). P
5_14 (X,Y,Z) H
p?Z(X*Xl)Z—O—(Y*Y])Z—O—(Z*Z')Zl
pE=(X— X (Y=Y +(Z—2) | (5.2)
= (X=X (Y=Y )+ (Z— 2%
GPS . . GPS
. GPS .
. . GPS .
. GPS
GPS . . .
( ) GPS
GPS GPS . «
GPS R ) R , ,
( ) GPS
GPS , .
. C .
GPS : .

¢ ) GPS
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- e
ol
ON .
o
n
. A
@)
- )
A
. &)

GPS

) GPS

GPS
GPS

(

.GPS

.GPS

GPS

—~ o » < 5 <

7. GPS

GPS

8.
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A;

:LI—

X

o

6.1
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24//

358

6-1

30m

30.00Z2m ,
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6-1
(+a) (—a)
dAa k k/n k k/n k k/n
0"~3" 46 0.128 45 0.126 91 0.254
3"'~6" 41 0.115 40 0.112 81 0.226
6" ~9" 33 0.092 33 0.092 66 0.184
9"~12" 21 0.059 23 0. 064 44 0.123
12" ~15" 16 0. 045 17 0.047 33 0.092
15" ~18" 13 0.036 13 0.036 26 0.073
18"~21" 5 0.014 6 0.017 11 0.031
21"~24" 2 0. 006 4 0.011 6 0.017
>24" 0 0 0 0 0 0
>, 177 0.495 181 0.505 358 1.000
)
@)) : ) .
(2) .
3) : . o
4) : ) )
lim M:O (6.2)
n—>co n
JAT=A A A F A,
, A
( ) dA ;
) o 6-1 .
n—>oco dA 6-1
( 6-2 ) s o
ol
K () i =R A)
] Aaind,
-A A
e [ A s s - 0 —»ﬁ* -
dn

6-1
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. 1
fa) = e
V2no
s TC . € 20 °
. (
’ n ’ 11912”"91115
Al 7A2 [ 9An ’ ] ’
2 2 see 2
— ATHAT +A,,:i\/[m]
n n
m , sm , B
6.1 5 , 180°
—4". TIF;E+2", o
N2 o2 2 EYEY 2
:)n:iJEAA]iJ<+o> T2 O (DD 19
n 5 5
6.2 10 s
:_5//’_3//’+2//’+4//’_1//’0//’_4//’+3//,+1//’_3//;
:_1//,+1”,_8”7_2”,_1”,+1//,+7”,O”,+3”,_1”0
:ml:i«/25+9+4+16—|—11—(0)—O+16+9+1+9:ig. o
mQ:i\/1+1+64+4+1$1+49+0+9+1:i3.6”
my<m , o
R 100m  500m , +0.02m,

(6.3)

(6.4)

+5//’_2//90//’

H-

3 1//
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s 1
_ | m|_ 1
K I L (6.5)
|m |
1 1
' 50007 K:=35"000
,500m 100m ,500m
s C ) o
32%,
5%,
0.3%, o ,
A =3m (6.6)
A =2m (6.7)
Z:klflikgfgi“'ik7‘l,, (6. 8)
NN ZICIEN S I I PIRELLIN o s My A 0 Ny o
SN INETEINY o Axi Axz AT, Z
AZ’
Z+AZ:kl(Il+AII)ikz<IQ+AIZ)i”'ik”<x,,+AI”> (6.9)
(6.8) (6.9,
AZ=k Ax, Tk, Ax, Lt Fk,Ax, (6.10)

Vo N o NN n ’
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AZ:
NZ;=

AZ, =k Az, ko Axs, d oot

:/Z1AI11JL/€?A191 i"'
kiAx1s ks Axsy £ ot

i/@n Ax

Tk, Az

Tk, Az,
R n oo
2 N 2 "9 3
[AnZ] b [A11]+kz [Alz]_'_ g [AT ]+2k 5 [AllnAIJiZkzkg [Al_nAxg]im
(4) ,
2 2 2
[AZ ]:k% [Axljﬂe; [A~Tz]+ y [azi]
n n n n
m* —/eﬂm +k')7n§ . +/€,,ml
m:Zi«/kim;l +k27n;»2+"‘+/2,,7’)23~” (6.11)
6.3 , +2.0mm,
:h:a—b
=4 vm:+mi =+ /2.0°+2.0° =+2.8(mm)
6.4 1:1 000 y d=32. 2cm, my =
+0.1lcm, o

:D=Md=1 000X32.2=32 200(cm)=322(m)
mp=Mm,==+1 000X0.1=4+100(cm)==11. 0(m)

D=(32241.0)m
6.5 .
60°3024” L, =60°30"38",
B

_Li+L,+L;+L,
B= 4

Z=f(x a0

HV S I BN NN o ’

dz=2Laz, + 2L 4z, 4+ 2Ly,
axl aIZ

)

N Myt

L,=60°30"36".L,=60°30"42" .L,=
+6”

(6.12)

N

ox. (6.13)
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L1 T2~ \Tn Ax1 Az VAT
AZ, , (6.13) ,
_of Of n oy 4t O
Az 83{?1A11+8362AIZ+ ox ”Ax,,
of
:81' X ’ ’
of _, of _, . of _
811 ki a X 2 ko ar” R
, (6.14) s (6.11)
mi=kim; +kim:, 4 tlom’
of \' of of
" *\/<81‘1> My +<812) mi, + _'_(ax“
6.6 . 32.41+£0.02m, 24.36+0.01m,

o

a,

b,

S

:S=ab=232.41X24.36=789.51(m?*)

o=t J(2) i (2) i

=+ /b*m:+a m}

=+ /24.36° X (£0.02)"+32.41* X (£0.01)*

59(m?)

o

:Ax= Dcosa

S=(789.514+0.59)m°’
6.7 Ax=Dcosa,

D=63.21+0. 04m,a=20°30"00"+12",

My, = +\/ an m%-i—(

T )

7

—_
—40. 0375(m)
m,
o
5 .

= —_‘—N/coszam% + (—Dsina)* <m“
0

360°

0= o =057.3"=3438 =206265",

Z=[f(aiszs50e

05220307007 X 0. 042+ (—63. 21sin20°30700”)? X (

7x71)0

(6.14)

(6.15)



(2)

3

4)

Ol = W D

of af .. of

b
ox,°

n ’

+2//9

+18”,

-+ 2mm,
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( ) ,
(D)
* ¢
(G
, X
W% AR bR
Y B R A
7-1 ( 7-1 ).
, , 0°~360°,
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7-2
A=A +9¢
(
A =aty
.Y |
[

a=A +5_}’

—10°~+6°

7-2,

7.1

(7.2)

(7.3
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A
i
£
i
Gl
It
Y
7-3
. . C T4, AB . A
B o A
AB aap AB
3 B BA
QAB » AB ( BA
Do . 180°,
O Y °
7-4 a =a +180 (7. 4)
o 7’5 ’
o B ,
A—>B—>C—>D—~E : .
(G
aap , o 7-5
180°,
als(‘:aAli_'_,le —180° (7.5
a(‘l):ali(‘+ﬁ(‘ —180° (7.6)

QDE — AcD +[81> —180° 7.7
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7-5
a =a +p —180° (7.8)
s B =360°—R (7.8),
a =a —p +180° (7.9
(7.8) (7.9
a =a +pE180° (7.10)
N . B “+7.8 “—7180° :
a +p<<180° “+7, o E£p>180° =7,
. 0°~360°,180° “t o=,
360°, 360°; . 360°,
¢
, ; (7.5, (7.6), (7.7
N , ( Do
@ =a £ >,pEnx180° (7.11)
(7.1D . ,EB “E” :B “+7.8
“—"in R “hroe=7,
360° . 0°~360° .
7.1 7-5 . anp =308y =120°,8, =210°.8, =100, (7.11),

.1000°—2X360°=280°

ape =30°4+120°+210°+100°+3 X 180°=1000°,
. —80°+360°=280°

ape =30°+120°+210°+100°—3X180°=—80°,
s ADE :2800
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F|AE)! )
o 7-6 , AB
| A (XaYa) . AB
| D ap @QAB s B
. g (X5.Y)
| LT 7-6 A.B
| ([
: : Axap =Dagcosaas } 7. 12)
l l Ayap = Dapsinaas
v, Ay, # () B
rp=xat+ Axap =xa+ Dapcosaas
& ye=yatAyas=ya+ Dapsinaas }
7-6 (7.13)
7-6 sAB
Das = /Axas T Ayis = v/ (xp—xa) "+ (yp—ya)° (7. 14
aap =arctan By = arctan 2224 (7.15)
T ap Tp—xa
(7.15) ) o
(D Axap=>0,Ayap >0  saas I , 0°~90° o
(2> Arap<<0,Ays=>0  ,am 1l . 90°~180°
180°, o
(3 Axap<<0,Ayap<<O0  ,aap i s 180°~270° o
180°, o
1) Axap=>0,Ayas<<0  ,aap I\ , 270°~360° .
360°, o
, Das s
DAuzﬁnyﬁiﬁzﬁ (7.16)
7.2 A (541. 25,685.37).AB 75.25m,AB
ass  50°30, B .

cxp=>541. 25+75. 25c0s50°30" =589. 11
yp="685. 37-+75. 25s5in50°30" =743, 43
7.3 A.B A (500. 00,850, 87),B(325.14,983. 65), AB
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AB o

:Das = +/(325. 14—500. 00)° 4 (983. 65—850. 87)* =219. 56

983.65—850. 87
325.14—500. 00

Axap<0,Ayap >0, aaB I s
aas =—37°14"05"4+180°=142°45"55"

=arctan(—0. 76) =—37°14"05"

aAp — arctan

0°  360°C 7-8 ), 10° , 1° 30, 0°  180°

150°



88

7-8

AB

7-9 s
150%),
(D )
(2)
(3 ,
1.
2.
3.
4, AB
S. A
a AB :120020/ ’
6. A
Dy AB

60°30",AB
A(412.36,851.36),AB
B .
A (500. 25,850. 74) . B

QAB o

DAb‘ =75. ZSm,AB

B(215.45,1 235.2D),
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8-1

8-2



_ggéﬁm N

— EZAN )

— %A

---= HEH 8-1 o

( ),
8-3
) ) s
) ) ( 8*4 )o 8*4&
8-4b
8-1
(km) @) @)
20~25 +0.7 +2.5 1/350 000
13 +1.0 +3.5 1/250 000
8 +1.8 +7.0 1/150 000
2~6 +2.5 +9.0 1/100 000
a b
8-4
o 8-2 o
8-2
(km) @

10~30 +0.7 <7 1/250 000
10~30 +1.0 <7 1/200 000
7~20 +1.8 <20 1/150 000
4~15 +2. <20 1/100 000
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. — 4Kk
— ARG B
» . ~ | — AR
aEfrElY - DY 2k 2
o vy
8-5
8-3
(km)
(mm) (mm) (mm)
1 000~2 000 +0.5 +1.0 +2./L
500~750 +1.0 +2.0 +4 T
200 150 +3.0 +6.0 +12/L
100 80 +5.0 +10.0 +20/L
L . km
o 15km ,
. b
o b ’
b b o
o b
D) ( 8’4 )c
8-4
1: 500 1:1000 1: 2000 1:5000
150 50 15 5
9 12 15 20
b Ay A ’
GPS

GPS
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8-6
8-7 .
8-8 ,

o 8-5,
8-
(km) (km) " "
(@) DJs | DI, ()
0.5 5 1 2 10vn 1/15000
0. 25 8 3 1 164/n 1/10000
0.1 12 2 1 243/n 1/5000
<1.0M Lo 20 1 60:/m 1/2000

n
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( )\ N
(G
(1) N ’ 5
(2) ’ H
(3) , o
8-5 ;
4) s , o
. ( 8-9 ) “
) ( 8-10 )6
18.2m 14.6m
20.1m
8-9 8-10
)
0 , (
)5 ’ 5 ’ DJ6
. . 40",
)
1/2 000, 1/1 000,
(G



), 8-6 Bos 87 Bafes .

DI = (n—2) X 180°

’ n

> - L
fa=28 —>8 = 2.8 —(n—2)x180°

’

f,e :i 60”«/77

‘ f‘ﬂ ‘>‘ _fﬁ ‘ ’ ) ’
L fe Il fo |
w= =
fo :
: 2B
ﬁ';=ﬁ,+fuﬁ

P

8. 1D

(8.2)

(8.3)

(8.4

(8.5

(8.6)
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Dlar DAy

fs) 8-11
>'D
K.

K

Vneyiiny > Uy

Azxii+1 = D¢+ cosaii+n
‘ (8.7)
Ayii+n = Di+1 sinaii+1
ZAI = OW
S (8.8)
Say =of
) N fastys
fo= EA]S 1
(8.9)

fo=ay |
, So(

fo=Fitr (8.10)
»fp
Y
8-11
K=o - 1 (8.11)
2D 2D/ fy
. K , .
o i GHD N AZ i+ ~AYici+n
_ — /.
v‘l"m.l) _ EDXDIUHW )
Unyiinny ng X Dy
ZUQI :7](11
- (8.13)

Evm :_ny
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/7
Ax i1 = Az T oa

i |
v

, (8.14)
Ay i+ = AYiG+D +Usym+” J
5.
’
Zi+1) :l‘I’JFAJ(‘/i(i FD l
/ : (8.15)
Yarn =i TAY it J
. b o
8.1 N 8-6
, A x4=1000.00m,ys=1000. 00m, R
3-6
B
o 4 a D (m) (m) (m)
7 (m) Ax Ay Az’ Ay' x v
1 2 3 4 5 6 7 8 9 10
_ —2 —4
A 150 48 12 | 125.87 —109.90 | +61.36 |1 000.00 |1 000.00
—109. 88 | +61.40
1 12 —2 -3 890.10 |1 061.36
20 69 28 00 | 162.92 " | +57.12 |+152.52 IV .
98 39 36 +57.14 +152.57 | " 0
+12
9 —2 —4 947.22 |1 213.88
: 338 04 18 | 136. 85 +126.93 | —51.15 : :
88 36 06 126,95 | —51. 11
+12
3 | —y A 1074.15|1 162. 73
87 2530 | 2453000 | 178.77 —74.15 |—162.73
T —74.13 |—162. 67
A _ 1.000. 00 | 1 000. 00
8518 00 | 150 45 12
1
> 135959 12
604.41 | -+0.08 | +0.19 0 0
DB = (4—2)X180° = 360" | f,=-+0.08m
fr=38 — 28 S0 om 15074812
— g fo =Vt AN 17877m 3
. , =0.21m i 87°25307—
fo =£60%n P S\gs1g00r |8
=+120" K= = 68'12]11 ZSIW 3 12 &
- 98°39'36
S 2D 2 N $836067/1°
—48" , 1 1~ 162.92m 2
Ve=—— =112 2000
8-6 s
(@) N N N 1.2,

3.4.9.10
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2 , fo=—48",
el=<Ife |+ fa : +127, 2
3 ,
3
€9
(5 N , 5.6

(6) . N SasSys

1 1
2 800<2 000’

, 5.6 o 7.8

fD I(o ,K%

o 8-12 ZAB.C.D

’ QAB ~QCD ’ (7. 11) acp

8-12
aw = aws + B4 n X 180° (8.16)
.0 , 360°,
[} acD acp D)
E
fo=am +nX180°+ D g—aw (8.17)
. 8.3, [ fel<l fs |
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2 Ax
28y

~ e (8.18)
—

’

— (xc — 1‘:;)}

e (8.19)
Sy = ZAy — (ye —yB) J
o 8-7 o
8-7
B D (m) (m) (m)
o ’ " a
o (m) Ax Ay A Ay x Y
1 2 3 4 5 6 7 8 9 10
A
149 40 00
—10
B 2 453.84 13 709. 65
168 03 24 —9 —4
137 43 14 | 236.02 —174.71 [+158.74
—10 —174.62 [+158.78
1 2 279.13 |3 868. 39
145 20 48 —7 —4
103 03 52 189. 11 _ —42.82 |+184.18
—10 —42.75 [+184.22
2 2 236.31 |4 052,57
216 46 36 —5 —3
139 50 18 147.62 —112.87 | +95.18
—11 —112.82 | +95.21
C 2123.44 |4 147.75
49 02 48
852 55
D
> 57913 36
572.75 [—330.19 [+438.21 |—330.40 [+438.10
fe= D Ar— (zc —xp) =+0.21lm
fy= ZA}’* (ye —y) =+0.11lm

f3 = aap + 2‘8+ n X 180" —am

[ =7+ 41"

fo =£60"yn =+ 120
__fp 4

Ve = n 4

fo= i+, =0.24m

/o

1 1

D ~ 2390 T 2000
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L +20 |13 1/10 000 1 +60 + 400
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’_
a;i=a;tv,

b =b; 4, f

/7
ci=cito,
180°,
4 / 4
a;+b;+c‘;:1800
)
" V4
D, ai Jbi
Di:
. 7
__ Dysina’y
Dl_.i/
sinb’
. 7. ’
Dysina’; sina »
Dzzﬁ
sinb;sinb’,
. /. /7 . 4
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Du: 7 7 7
sinb’;sinb’y *++sinb’,,
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D, D
? n n ’
’
wy,=D,—D,
’ ’
] Wy O, a; [),
/7 ’ 4 4
a; b, Vai ~Ubi o :
. /7 /7 . / /7 . /7 ’
D()sm(a1+v(,1)sm(aerv[,g)'"sm(a,,Jrv““)_D —g
. / 7 . / 7 . 7 /7 -
sin(by + v ) sin(b’s + v, ) =+ sin(b’, + v, ) !
4 ’
Ui Ui ’ ’ ’

D71 /7 / ’ /
wy+—(cota’ v, —coth v ;) =0
©

(1), (2) -

Wy s

9(7’1)

(8.

(8.

(8.

(8.

(8.

(8.

(8.

(8.

20)
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2 ot
Val =V a2™"" =V aa—UVa

C s, (8.28)
Vol —UVp2—°*"—UVm Uy
’ C
(ai+0' )+ +0)) 4+ =180° (8.29)
(8.23),
v+, =0 (8.30)
(8.27),
/ Wa ”
vl D, 2 (cota’; + coth) . (8.3D)
v, =+ w X o (8.32)
D, Z (cota’; + coth’)
a”,:a/,ﬂJrv/uw
Vi=b+, - (8.33)
C”;:C/; J
C )
p, = Desind’
sind
Dsind [ (8.34)
D.=—"""3 [
sinb
sDo Dy D, a’ b s
QD)
. . 8-15 .
A—-1-3 C D 42 BA,

8.2 8-16 8-9 , 0
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8-9
c , L, , o (m)
11213 4 5 6 7 8 9
Ala | 63 54 18 +4 63 54 22 —3 63 54 19 206. 201
c|a 70 30 42 +4 70 30 46 +3 70 30 49  [(211.646)
1|B]|a 45 34 48 +4 45 34 52 45 34 52 160. 351
s | 179 59 48 +12 180 00 00 180 00 00
! —12
Bla | 59 40 24 +3 59 40 27 —3 59 40 24 202. 847
D|b,| 59 05 05 +3 59 05 08 +3 59 05 11 201. 621
21 Cle| 61 14 22 +3 61 14 25 61 14 25 206. 016
s | 179 59 51 +9 180 00 00 180 00 00
! —09
Cla| 67 02 00 +4 67 02 04 —3 67 02 ol 241. 222
E|b | 50 44 10 +3 50 44 13 +3 50 44 16 202. 847
3|!D|e| 62 13 40 +3 62 13 43 62 13 43 231. 811
s | 179 59 50 +10 180 00 00 180 00 00
S —10
Dla | 65 18 20 —4 65 18 16 —3 65 18 13 234,179
Flb | 69 22 03 —3 69 22 00 +3 69 22 03 241. 222
14| E| e 45 19 48 —14 45 19 44 45 19 44 183. 303
s | 180 00 11 —11 180 00 00 180 00 00
f +11
E|las| 48 59 10 +3 48 59 13 —3 48 59 10 | (179.757)
Glb | 79 25 00 +4 79 25 04 +3 79 25 07 234.179
5| Fle | 51 35 40 +3 51 35 43 51 35 43 186. 687
S| 179 59 50 +10 180 00 00 180 00 00
S —10
wy=D",—D,=40.0135m
CER oS (coi:[/ Teon) F =%
Wy=+3
@) N . s 1.2.3.4 .
2) fis fi
( ),
(3) \ a ;b 7,
4 9 211.646m,179. 757m R ,

o
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§-17 , A B
P a ‘89 P o
//\\
xp :IAJFDAVCOSO(AV
_ (8.35)
Yyp— YA +DAP Sinaap
Py F N3 ’
QAP — QAB — Q
oY Dap = Dy sinf3
A sin[180°— (et ]
_ DAB Sll’lﬂ o
Xp—XA +Sin[1800— (a+‘8)jcos(a/\u a) 1
, D sing (8. 36)
_ AB S111 B -
Vp=1ya +sin[180°— (O(Jrﬁ)]sm(am; a)
_ D g cosaas sinfcosa= Dag sinaag singsing Axapcotat Ayas
Xp — XA + . B — XA
smacos[H— cosasinf cota*FcotB
_ D g singap sinfcosa — Dag cosaas sinfsina Aapcota— Axap
yr=yat : - =y
smacosﬂ-l— cosasing COta+COtﬁ
_xacotftapcotat (yp—ya)
Xp—
cota+cotf
(8.37)
_ yacotpt ygcotat (xa—ap) [
e cota+cotf
(8.37) s o , A.B.P
30°~150° , 90°;
( 8-18 ) ) ’ al \‘81
az \Bz ’ ’ P o
’ /7 " 4
T pY p L pY opo ’
’ U
=X, X
fomx Ty (8.38)
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o=y F [ (8.39)
fr 2X0.1Mmm  3X0.1Mmm(M )
P o §-10 o
8-10
XA COtﬁ+1'1;COt&+ (yli A ) w
Xp —
cota+cotf [
_ya COtﬁ‘._yu cotat (xa —ap) J
e cota+cotf
A 8 020. 40 ya 4 465. 10 rp 7885.71 VB 4923.13
XB 7 885 71 VB 4 923 13 xXc 7 926 06 Y 5 327. 21
ai 41°3605" B 72°44" 35" as 85°10"00" B 42°37' 26"
xp 8 233.59 yr 4917. 85 xp 8 233.65 yr 4 917. 85
1:500 f =0.2X500=100(mm)
f=/6"+0=6(mm) xp=8 233.62m yp=4 917.85m

§-19 . AC B)
) a BC 7,
P , o
a:1800*(‘8+7), o
, P
C e ( 8-19 Do 8-19
P B.C ars s
arc Dpc o
€ €
€ =aps —arc (8.40)
3 3 € Ae
Ne=e¢ —¢ (8.41)
, A zizxoblpymmxp” (8.42)
"M o

§-11 .
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_ xacotftapcota—yatys
Xp —

cota+cotf
__yacotBtygcotataa —ap
e cota+-cotf
B A
B 6 244.732m Va 28 117. 809m a 47°59"42"
zp 5551.322m Vb 28 413.701m 6373346
xe 5 182.270m Ve 28 894. 741m y 68°26"32"
zp 6 009. 668m yr 28 804. 528m € 46°40"45"
ars 220°27" 14" arc 173°46'39” € 46°40"35"
Drc 832.30m Ae +99” Ae +10" 1/2000
8-20 P Al
a-f3s P s
)
N.—
tanaa)::%éfjjggf (8.43)
Azep = N, +1\72‘Fana(~p _Ns Jan?anacp l
1+tan®ace 1+tan®acr . (8. 44)
§-20 Aycep = Axcp tanacp J
N, = (xa—xc) T (ya yc)cotal
’ Ny, =(yas—yc) — (xr—xc)cota 7 (8. 45)
Ns=(xp—xc) — (yp—yc)coth
N, =(yp—yec)+ (I]g_I(j)COtBJ
P
xp=xctAxcp
(8.46)
yp=yc T Ay
r A.B.C (
) s p P
. P 1/5,
, P K, e P
B.K app~apk Dpx s e e, A€<42 X O.DIIJ]:/[mim X (0//0 s

8-12
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8-12

N, =(xs—2¢)+ (yas—yc)cota
N>=(yr—yc)— (xr —xc)cota

N3 = (xp—x¢) — (yg—yc)cotf tanacp =

N, =(yp—yc)+ (@ —zxc)cotf
N, +Nytanacp N3+ N, tanace

N; —N,

)‘\]2 _1‘\]1

N Arer = 1+ tanacp - 1+ tan®acp lfpir(A»AI”)
A AR B Aycp = Axcp tanacp fyp =yetdyer
xa | 4512.97m | ya 5514.71m a 106°14"22"
x5 | 4374.87m | yp | 6 564.14m 118°58'18"
ze | 5144.96m | yc | 6 083.07m €
N, —474.306 | Aycp | —487.22m acp 181°01'58"
N, —725.442 | Aycp —8.78m ark .
N, | —503.739 | x, | 4 657.74m Drx e
N, | +907.440 | y, | 6074.29m e
P .
N
8§-21 , A s (
)B P . A B
Dap A AB
P
P

xp=2x41 Dapcosaap

Yp— YA + D ap sinaap

(8.47)
asp —arctan RENRNEY
X~ XA
AP — QAB +,3

P, , 1

(8.48)

(8.49)
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(D 8-21
2

3 B
€9 P
5

A.B
h ap

A

KK Ve T

A,
B
Xp~Yp
o
b
b
b
Cw
"ol
Z.j
A.B

I"LA/\B = Dtana + 1—v

8-22

(8.50)
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A H., B Hy
Hy=Ha+has=Ha+ (Dtana+i—wv) (8.51)
B Hyz, A H,
Hia=Hp—has=Hp— (Dtana+i—v) (8.52)
] ] ( ) H D)
(G
(8.50) . s
300m o 300m
’ ° ’ <8. 50)
I :
hA];:Dtal’laJFl._“U“Ff (8. 53)
. D?
s f=0.43 R (8.54)
R ) 6 371km,
’ Y )’
(G
@)) A, T, 0.5cm,
lcm,
(2 B ) o
(3 ) .
8§-13 o
8§-13
B C
A A D E
(m) 1 341.23 1 341.23 3 060. 20 4 152.70
a +14°06"30" —13°54704" —1°35"43" —0°42'58"
Dtana(m) +337.10 —331.95 —85.23 —51.90
i(m) +1.31 +1.43 +1.24 +1.48
v(m) —3.80 —4.00 —4.11 —3.82
f(m) +0.11 +0.11 +0.63 +1.16
h(m) +334.72 —334. 41 —87.47 —53.08
H(m) 879. 25 879. 25 485. 70 312. 20
H(m) 1213.97 1 213.66 365.23 365. 28
H(m) 1213.82 365. 26
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o

+0.05 “/ZDZ mm(D ,  “km” )
(D
(2)
(3) 1234( )s 1 (589. 36,1 258.45),12
a2 =56°35"16", B =84°32"19",8, =91°08"23", 8, =101°33"47", 3,
=82°4629"; D1, =100. 29m, D =91. 96m, D3, =93. 64m, D, =113, 18m,
2.3.4 .
4 . A.B A (646. 36,154, 68),B(873.96,214.47),

ar=65°45"32" ,ap="57"42"08", P

o
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